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Introduction: 

Blue Ribbon Sports is an American multinational company, founded in 1964, is now the 

brand that we all know as Nike Inc. (O'Reilly, 2014). Nike is said to be the world's leading 

athletic company. Their products range from sports apparel, to footwear, to equipment. Nike Inc. 

is made up of five popular brands such as: NIKE, Converse Inc., Hurley, Jordan, and NIKE Golf 

(Nike CR Report). Nike is a very successful company that is well known around the world for its 

products and performance within the industry. With the enhancements of Nike and its brand to 

the world many professional organizations use Nike for their likings. The organizations that are 

sponsored by Nike range from both sides of the sports spectrum including football, basketball, 

baseball, golf, tennis, and the list continues. Nike contributed massively to the world with their 

stunning advancements on sport gear and continue to do so today.  

  Nike’s counterpart, Adidas, which is a German multinational company was founded in 

1949. Adidas also sells athletic footwear, apparel, and equipment and brought many unique 

advancements to the sports world. Adidas also has branches of brands such as Reebok, and 

Taylor­Made ("Adidas Group"). Adidas is a very successful company that competes with Nike in 

the same industry which makes them essentially rivals. Along with Nike, Adidas also brought 

many enhancements to the world and are sponsored by various professional organizations. These 

include: football, archery, gymnastics, basketball, baseball, etc. Both of these companies are 

successful in the sports industry and are fit to be called rivals, however from our research we will 

be able to show who tops the ranking to be named the “king” of athletic attire.  

 

 



 



Detailed Discussion: 

Short­term solvency is divided into two categories: current ratio and quick ratio. These 

ratios help the companies determine their financial health. The current ratio can be quickly 

defined by taking the firm’s assets and dividing them by their liabilities. Nike’s current ratio is 

2.72; almost twice as much of Adidas. The quick ratio works almost the same except that in 

addition, inventories must be subtracted from the current assets. In this ratio, we determined that 

Adidas has a larger overstock of products that aren’t selling as quick as Nike.  

Long­term solvency refers to the long­term benefits of a company​. Firms invest their 

markets in hope to gain high return rates and therefore increase the value of stock and 

profitability. These ratios are broken down to 5 categories: total debt ratio, debt vs equity, 

long­term debt ratios, times interest earned, and cash coverage. After determining these ratios, it 

is clear to ​define which company has more potential to gain leadership within its market​. The 

total debt ratio​ explains how much ​total liabilities against total assets a company has​. For 

instance,​ Nike is more likely to pay off all of its debts because the total debt ratio equals to only 

42 percent​ while ​Adidas​ is falling behind with ​55 percent​. This means that​ Adidas has 1.21 times 

more total liabilities than total assets​. Nike’s​ times interest earned ratio is 93.18​ which means 

that, when dividing income by interest expense, ​they have enough income to pay off the interest 

6.92 times more than Adidas.​ Although cash coverage could not be calculated for Nike, we can 

assume that it, as well, could be several times more than Adidas’s.  

To determine the turnover ratios within a company, a few things must be clear: the 

inventory turnover, days’ sales in inventory, the receivable turnover, days’ sales in receivable, 

the NWC turnover, the fixed asset turnover, and the total asset turnover. The inventory turnover 



simply measures sales against inventory. ​Nike’s 3.89 times inventory ratio tells us that they can 

sell all of their inventory in only 93 days,​ where Adidas needs 30 more days to do the same 

process. Nike also has a ​receivable turnover​ of 8.1 times, when Adidas 7.13. This ratio ​defines 

how many accounts receivable a company collects each year.​ These ratios all add up when we 

can determine how many days it takes to collect the payments. Nike’s days’ sales in receivable is 

45 days vs the competition with about 51 days. Next, we need to determine both companies’ 

NWC turnover. In order to define this, we need to subtract the liabilities that each has from their 

current assets; this is called the working capital. Once that is measurable, we can take the 

company's’ sales and divide them by the working capital which ideally should provide us with 

the working capital turnover. This leaves us with 3.21 times for Nike and 4.90 times for Adidas. 

We can define the ​fixed asset turnover​ by taking net sales of each competitor and dividing that 

by their assets such as: property and equipment. ​The higher the number, the better because you 

want to pay off the equipment and property and generate only profit​. Of course, as we assumed, 

Nike’s turnover is 9.81 times while Adidas’ is only 2.87 times. Finally, we need to determine the 

total asset turnover. We simply divided sales by the total assets. The turnover ratio for Nike was 

1.5 times and 1.17 times for Adidas.  

Profitability ratios are the best way to see how the company is doing so far. For instance, 

if we take the profit margin (Net Income / Net Sales), we can determine how good a company is 

doing and then decide if our investment will be valuable and hold a high return. Nike generates a 

margin of 9.69 percent, while Adidas has a margin of only 3.29 percent.  

Last but not least, we calculate the market value measures. These measures can be broken 

down to different ways of calculations such as the PE ratio. To define the price­earnings ratio, 



we take the market value per share and divide that by the earning per share. In the end, we 

determined that both companies are quite close to competition as competition goes. Nike with a 

ratio of 25.81 and Adidas following closely behind with 24.78.  

Strengths & Weakness: 

With the information present, we can notice that there are many strengths and weaknesses 

pertaining to the two organizations. If we look at Nike first, you can see they have many 

strengths over Adidas, if we just look at the data provided at the chart. If we look at the liquidity 

ratios provided, we can see that Nike exceeds Adidas drastically. Nike has the ability to cover 

their current liabilities 2.72 times, meaning their assets are greater than their liabilities. Nike has 

the ability to liquidate their inventory to pay off and also have enough cash to pay off their 

liabilities which is critical for the company. When it comes to their financial leverage ratios, 

Nike also has a strengthened advantage over Adidas. Having a lower total debt ratio and debt 

equity (42% and 0.72 times respectively), shows us that Nike does not use the majority of their 

assets to finance their debts in the long term. They are able to use the majority of their assets to 

further enhance the company as a whole and still have enough to pay back their creditors..Nike’s 

strength in speed allows them to sell more inventory in a shorter period of time and in return 

generate more profit. By looking at the data, we can confirm that Adidas primarily is weaker in 

all the regions dealing with profitability, turnover, and the market value of the companies. 

In essence, Nike has multiple strengths in all of their ratios compared to Adidas, which 

concludes that Nike is outdoing Adidas when it comes to paying off its debt, paying back their 

stockholders, and generating profits for the company. Adidas has the interest of investors which 



is significant for their future growth, however Nike exceeds in all spectrums compared to Adidas 

and that ultimately shows the ability of the company to dominate the market.  

 

Conclusion: 

After analyzing the financial ratios of both Nike Inc. and Adidas, we have found that 

Nike Inc. has performed better in 2014. Without the use of financial information, most 

consumers would agree that Nike Inc. is the more successful company. Financial ratios are a 

great way to determine what companies are performing better by using their financial 

information. These ratios are especially important for companies within the same industry. The 

comparison of the ratios between two competing companies can be a great tool for companies to 

use when determining what areas they need to improve on.  In conclusion,  Adidas is not far 

behind in competition since it does have a promising future in terms of growth,  however Nike 

clearly has the upper hand in this industry and will continue to do so if they continue to perform 

at this rate. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Adidas:​ ​Income Statement & Balance Sheet 
 
 

 
 
 
 



 
 
 
 
 
 



Nike:​ ​Income Statement & Balance Sheet 
 



 


